Q1.

A machine pours 250 millilitres of juice every 4 seconds.

How many litres of juice does the machine pour every minute?
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2 marks

Q2.

This picture shows the masses of eight kittens.
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What is the difference in mass between the heaviest kitten and the lightest kitten?
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1 mark

The masses of the kittens are to be put in four groups.

Write the missing numbers in the table.

One has been done for you.

 

	Mass in g
	Number of kittens

	250-299
	 

	300-349
	 

	350-399
	 

	400-449
	1


1 mark

Q3.

Stefan has 600 millilitres of water in a bottle.

He pours some of the water into two measuring jugs as shown.
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How many millilitres of water are left in Stefan’s bottle?
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2 marks

Q4.

A box contains 2.6 kg of washing powder.
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Jack uses 65 grams of powder for each wash.

He uses all the powder.

How many washes did Jack do?
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2 marks

Q5.

﻿
 

Miss Mills is making jam to sell at the school fair.

Strawberries cost £7.50 per kg.

Sugar costs 79p per kg.

10 glass jars cost £6.90

She uses 12 kg of strawberries and 10 kg of sugar to make 20 jars full of jam.

Calculate the total cost to make 20 jars full of jam.
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3 marks

Q6.

 

A packet contains 1.5 kg of oats.
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Every day Maria uses 50 g of oats to make porridge.

How many days does the packet of oats last?
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2 marks

Q7.

Jack finished a sponsored run in 53 minutes 25 seconds.

Ally finished 3 minutes 50 seconds after Jack.

How long did Ally take?
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1 mark

Layla finished the run 8 minutes 45 seconds before Jack.

How long did Layla take?
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1 mark

Mark schemes

Q1.

Award TWO marks for the correct answer of 3.75

If the answer is incorrect, award ONE mark for evidence of an appropriate method, e.g.

•   60 ÷ 4 = 15

•   250 × 15 = 3750

•   3750 ml ÷ 1000 =

OR

•   250 ÷ 4 = 62.5 ml per second

•   62.5 × 60 = 3750

•   3750 ml ÷ 1000 =

OR

•   60 ÷ 4 = 15, so there are 15 lots of 4 seconds in 1 minute so there are 15 bottles per minute.

•   There are 4 bottles in 1 litre

•   15 ÷ 4 =

Accept for TWO marks, 3,750 ml for final answer in working and the answer box blank OR 3,750 in the answer box where the litres has been replaced with millilitres.

Accept for ONE mark 3,750 litres (l) in the answer box OR the final answer in working and answer box blank.

Answer need not be obtained for the award of ONE mark.

Up to 2m

[2]

Q2.

(a)  155

1

(b)  Table completed with three correct numbers, as shown:

 

	Mass in g
	Number of kittens

	250-299
	2

	300-349
	3

	350-399
	2

	400-449
	1


All three numbers must be correct for the award of the mark.

Do not accept tally marks on their own.

1

[2]

Q3.

Award TWO marks for a correct answer of 275

OR

an answer in the range from 270 to 280 inclusive.

If the answer is incorrect, award ONE mark for evidence of appropriate method, e.g.

•   150 + 175 = 325

600 − 325 =

OR

•   600 − 150 − 165 (error) =

Answer need not be obtained for the award of ONE mark.

Accept a reading in the range 170 to 180 ml inclusive for the second jug.

At least one of the measurements must be correct for the award of ONE mark.

Up to 2m

[2]

Q4.

Award TWO marks for the correct answer of 40

If the answer is incorrect, award ONE mark for evidence of appropriate method, e.g.

•   2.6 × 1,000 = 2,600

2,600 ÷ 65 =

•   2.6 ÷ 0.065 =

Answer need not be obtained for the award of ONE mark.

Do not accept an incorrect conversion or no conversion of units, e.g.

•   260 ÷ 65 =

•   2.6 kg ÷ 65 g

Up to 2m

[2]

Q5.

 

Award THREE marks for the correct answer of £111.70.

If the answer is incorrect, award TWO marks for:

•        sight of £90 AND £7.90 AND £13.80 as all multiplication steps completed correctly.

Accept for TWO marks, sight of 9,000p AND 790p AND 1,380p as all multiplication steps completed correctly.

OR

evidence of an appropriate complete method with no more than one arithmetic error, e.g.
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88.80 + 7.90 + 13.80 = 110.50

Award ONE mark for evidence of an appropriate complete method.

Answer need not be obtained for the award of ONE mark.

A misread of a number may affect the award of marks. No marks are awarded if there is more than one misread or if the mathematics is simplified.

TWO marks will be awarded if an appropriate complete method with the misread number is followed through correctly.

ONE mark will be awarded for:

•        all multiplication steps completed correctly with the misread number.

OR

•        evidence of an appropriate complete method with the misread number followed through correctly with no more than one arithmetic error.

Up to 3m

[3]

Q6.

 

Award TWO marks for the correct answer of 30.

If the answer is incorrect, award ONE mark for evidence of an appropriate method, e.g.

•        1.5 kg = 1,500 g

1,500 ÷ 50

Answer need not be obtained for the award of ONE mark.

Units must be converted correctly for the award of ONE mark.

Up to 2m

[2]

Q7.

(a)     57 min 15 sec

The answer is a time interval (see the guidance).

1

(b)     44 min 40 sec

1

[2]
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